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TU PEDIR

TU VOLVER

TU SERVIR

USTED JUGAR

YO SENTIRSE

TU COMPETIR

TU ENTENDER
USTED PENSAR
USTEDES PEDIR
USTED REPETIR
NOSOTROS REIR
USTED CORREGIR
NOSOTROS PODER
NOSOTROS VOLVER
USTEDES SENTIRSE
USTEDES COMENZAR
NOSOTROS VESTIRSE
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TQMENTIR

TUSEGUIR

USTED REIR

USTED PODER

USTED SEGUIR
USTED DORMIR
USTED CERRAR
USTEDES REIR
USTEDES PODER
USTEDES PERDER
USTED VESTIRSE
NOSOTROS PEDIR
USTED ACOSTARSE
USTEDES CORREGIR
NOSOTROS SENTIRSE
NOSOTROS ENTENDER
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TU REIR

TU PERDER

TU PENSAR

USTED PEDIR

TU REPETIR

USTED PERDER

USTED SERVIR

TU CONVERTIR

TU ACOSTARSE
NOSOTROS JUGAR
USTEDES SEGUIR
USTEDES SERVIR
USTED SENTIRSE
NOSOTROS PERDER
USTEDES VESTIRSE
NOSOTROS COMENZAR
NOSOTROS CONSEGUIR
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